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There are 15 questions in all in this Section. All questions are compulsory.
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~ Which one of the following is not applicable to human ?
(A) Autotrophic | (B) Omnivore
() Heterotrophic (D) Carnivore.

2.  eeFl (@9 =¥ @ FepifEit wrer ¢ift 2

@A) o= D B fofmc
(c) feoif K . Py feuiRm A |
Night blindness is caused due to deficiency of
(A)  Vitamin D - '~ (B) Vitamin C
(C)  Vitamin K (D)  Vitamin A.
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If you have caries, whom would you consult ?
(A)  cardiologist (B)  Orthopaedics
(€)' Dentist (D)  Neurologist.
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Kangaroo is the national emblem of

(A)  Canada (B)  Australia

(C)  TItaly (D)  Ireland.
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By which the food tofu is made ?

(A) Cocoa (B) Soyabean milk curd
(&)} Curd (D) Coffee.
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The‘ deepest lake in the world is
(A) Red Sea (B)  Dal Lake

(C) Caspian Sea (D)  Lake Baikal.

Cp. @ AT oA AAICS 2
| (A) TP (B)/ QB

Wy R D) TR
Wﬁich mammal lays eggs ?
(A) Dolphin (B) Duck-billed Platypus
() Whale (D) Dugong.
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Who i o _
©1s regarded as the Principal architect of the Constitution of India ?

(A) B. N. Rao (B) Dr. B. R. Ambedkar

(C) ' N. Gopalswami Ayyangar (D) Dr. Rajendra Prasad.

ﬁﬁﬁ%m@ﬂﬁawqmﬂemqw ?
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Joy” e (D) foorafzan

Which of the following diseases is not caused by bacteria ?
(A) Amoebiasis (B) Typhoid

(C) Cholera (D)  Diphtheria.

10. ‘Rerame facarfa fRge *
A amen R (B) R
) : l
)  wyreEeR R L s o
Big-Bang theory explains
B origin of Sun
(A)  origin of Universe (B)
D origin of microbes.
(C)  origin of gravitation B .
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The intensity of earthquake is measured by

(A)  Barometer (B) Hydrometer

(C)  Polygraph ‘ (D)  Seismograph.
MR (CRE L
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What happens to deciduous trees ?
(A) Lose their flower in summer (B) Lose their leaves in winter

(C) Lose their flower in winter (D)  Die during winter.

E (o] fwaEe @t k9T = ?
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Which can be used for biological control.of mosquito ?

(A)  Puntius . - (B)  Rohu
(©  Gambusia (D) Bata.

geret st BT A faet mIC 20t fesret, @b 2=

14. |
(a) R SIREPTRARY B RRIR Sz
© R SIReTERe D) = 2wy
Bh‘op al gas tragedy was caused by leakage of MIC gas, which is
(A)  Methyl isocyanite (B)  Methyl isocyanate
(C)  Methyl isocyanide (D)  Methyl isocitrate.
73291A
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Which of the following is not known as greenhouse gas ?

(A) Methane . (B)  Nitrous oxide
(@) Carbon dioxide (D)  Hydrogen.
7 of 20
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Section - II
Current Affairs
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There are 15 questions in all in this Section. All questions are compulsory.
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The book "Playing it My Way' is authored by
(A) Sunil Gavaskar (B)  G.R. Viswanath

(C) Sachin Tendulkar (D) Sourav Ganguly.

17. A& STRPIRI TR IR I0E (TSI 73177 fof 267

(A) SIS (B) Y
ey e | D) ™R
The ministers of the State Government are collectively responsible to
(A) the Governor (B) the Chief Minister
(C) the Bidhan Sabha (D)  the Speaker.

(A) 1901 e UBIC 1905 I

() 19107 . \u!) 1911 I |

The British team was defeated by the Mohun Bagan Club in the year
(a) 1901 (B) 1905

(c) 1910 (D) 1911,
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Which of the following is tropical monsoon crop ?

(A) Paddy B) i
(C) Bajra

(D) Mustard.

20, feyoee wfze

..................... C&eTIY |
N sl B) ol
of Jgw D) A
Viswabharati is situated in the district
(A) Purulia ' (B) Bankura
(©) Birbhum (D)  Medinipur.
21. (I IR A (F IEA ?
&) TS O B) few o
ey @ oW (D) = CH|

Who is credited with the founding of Kulinism ?
(A) Samanta Sen (B) Vijaya Sen
(C) Ballal Sen (D) Lakshman Sen.

22. W 7 (e e J@ ZET O =9

(B) Fow
O ~ -
© . I (D) |

iated with the sport
Dh Chand was assoC1a
T (B) Football
(D)  Hockey.

(A) Running
(C)  Boxing
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Which one is the renewable energy ?
(A) Solar power (B) Thermal power
(C) Atomic power ' ' (D) Petroleum'.
A
'b I e ... . AT Bl FCACE |
(A)  afe B) W™
oy sifvaas (D) R
.Gatidhara Prakalpa is introduced by the Government of
(A)  Odisha - ' , (B)  Assam
(C) West Bengal _ (D) Maharashtra.

@5. T, 2014 (S (@AW SRIIEE (P T8 GFRHA (SO A0 (ADB) QTS O S1S33-9

(A) AP ETOLBPT B)  fsfern Morame
I~ el (D) HeE

On June, 2014 which minister of the Central Government has been appointed as
India's Governor on the Board of Governors of the Asian Development Bank (ADB) ?
(Aj Prakash Javadekar (B)  Nirmala Sitaraman

(C)  Arun Jaitley (D)  Smiti Irani.

26 qrﬁwﬁmwwwm%masmmm@wmw

(A) ved (Y@ qRIa & P S
) o e AR P p—
The earth rotates around its axis from
(A) North to South B <outh to North
© Bagtta Weit (D) Westto East.
= 10 of 20
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(B) Derozio

M
€y other Teresa (D)  Netaji Subhas.
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The founder of the Bengal Chemical organisation was

(A) Nil Ratan Sarkar (B)  Prafulla Chandra Roy
(@] Dwarakanath Tagore (D)  Alamohan Das.

WERE, 2014 (S WA LR i REFRe @R smey @er NI B FE JET 2

Ly St Smdhet (B) I ST
(C)  o>¥ @M D) R o= Sy |

In October, 2014 the Urban Housing Mission has been named after which of the

following national leaders ?

(A)  Sardar Patel (B)  Shyama Prasad Mukherjee
(C)  Subhas Chandra Bose (D)  B.R. AmbedKar.

e srorom wRAPTT eaw S 2

(A) Qsﬁ W@"W’FJ

(c) ferera (D) e

The main occupation of the people of the Indus Valley Civilization was
(B) Cattle rearing
(D) Trade.

(A)  Agriculture
(C)  Hunting
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‘39@ L€ “Arithmetic
\.c, & a8 e (b 15 15 o I | et e? e |
&L«ﬂ‘“ There are 15 questions in all in this Section. All questions are compulsory.

31, 659843 BT (I FHoH FeAT ol FAET oo @l sl AL 4 7

Y7 124 ~ (B) 116
(Q)/.126 | (D) 112

What is the least number to be added to 6598 to form a perfect square ?

A) 124 : (B) 116
6 (C) 126 (D) 112
@q,
ne?

2. 30 fefi/a: @01 bem @3l (N = 27 Waaﬁﬁwwﬁww @R o 2w

) oé a)  112-5 6™ (B) 1405 fOR
W K | |
l)

150 B (D) 132 o™ 1

\

.;.ﬁ N ’ﬂ(’ If a train crosses a point in %lsec moving with a speed of 30 km/h, length o
(%%

% i
j/ train is

,z (Al/ 112-5 metre (B) 1405 metre
) (C) 150 metre (D) 132 metre
33, (W IFeH AT @ 1023 @38 750~ G5l IACT IAEE 3 G2 2 ST e 2

(A) 65 (3/ 68

19 © 78 1
What is the greatest number by which if 1023 and 750 be divided 3 and 2 are l¢
V)

oM remainders ?
yuo o 65 B) 68
(\ c 78 o) 11
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34, 2(AC® 12-95 Y AFTS Manafng S
@A) 26 7 557,108,
. (B) 29 /
( | (D) 28 28
Sum of the prime numbers between 2 and 12 is ‘
A 26 (B) 29
(C) 25 o) 28
35 O I 5% (N W 4% TET @ g afiely IS S 250 TR W IWI @ AET o
PN O ? | S 253
v g ¥ (]
(A) 22,500 Bl (B)/ scosatE o= 25
M 20,000 GBI (D) 25,500 5=
If rate of interest reduces from 5% to 4%, a man gets Rs. 250 less as his yearly
interest. What is the capital investment of the person ?
(A) Rs. 22,500 (B) Rs. 25,000
(C)  Rs. 20,000 (D) Rs. 25,500
36. M 79:63 + 963-8 — x + 7-953 = 18:732 T, O x99 T W 502, -8
| ' ' 5.6%
()  1070-115 (B) 1063115 :ﬁg’
Sy~ 1032:651 (D) 979-214 (6-F232
If 79-63 + 963-8 — x + 7-953 = 18:732, then value of x is ’3/%;:‘&
' ",
(A) ,~1070-115 (B)  1063-115 ( 5g7
. D) 979214
(Q/ 1032651 ( m
SR
37. 90 +0-09x10-4% T W
0
(A) 8100 Br"” 100 )
(C) 1000 L} 81000 | 96( (o0
Value of /90+0-09x10 is @6
(A) 8100 B) 100
(C) 1000 (D) 81000
Z3291A 192 13 of 20
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T 10% ) 21%
(€) 25% (D) 100%
f each side of a square be increased by 10%, the percentage increase in area is
(A)  10% B 21%
- asd D) 100%

39. @3 A @R SR 4T T (TR TG WER T 30 | @ I @ 4F (T WOR
TS 5 : 2 TE @ Fiea I6 750 |

(A) 4239 (B) 4537

JQC 60 I (w( 50 929 ’

The present average age of a man and his twin sons is 30 years. The ratio of the ages

of the man and one of his sons is 5 : 2. Present age of the man'is
(A) 42 years (B) 45 years
(©) 60 years (D) 50 years

40. @3 AR 25%, & AT 30% (A 15 IV | O TR0 20% TR

X o 0 A= fos

S

U5 = x=
(&) 225 (D) 6o —zz 37
25% of a number is 15 less than 30% of g?number. Then 20% of the number is
(A) 75 60
65 44
(C) 225 (D) ‘

], 564823 57e27BTO 4-92 AT T @ AfSfR® AT GTFe 21
41.

(A) 16000 (B) 160
ef” 1600 (D) 16

The product of the placg value and the face value of 4 in the number 564823 is
(A) 16000 (B) 160

(©) 1600 (D) 16

. 232¢
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A pole is painted 1
p p 2 1ot red, Ltn white, S5 th blue, 26t black, Zsth violet

—th
60 yellow and the rest green. If the portion in green has length 12:08 metre, length
of the pole is

(A) 10 metre (B) 20 metre
(&) 16 metre (D) 14 metre =4 )T
; 50
N7 o S TRpwmIT 2 oy
‘{7/ 2 1 (ﬂﬂp\_}/k/‘gjf
4% B) 4. cm "
39 47 s IOy
© 15 ' 12 ‘rg

Which of the following fractions is the largest ?
1

w42 o %%
47
© 22 )

1

04 & T @ AR 570 12 i AT | O e (T 8 fe @ SfF T A 2

A (B) ~ 40
rd ' - 6

32
sons can dig a pond in 12 days. Then how many persons can dig the ponid.in

24 per

8 days ?

@) 20 (B) 40
(C) 32 Bl =8
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1
® 1

A -1 o -3

By which number 3 is to be multiplied to get (-1) ?

1
A 1 B 3

o) -2
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